F30E EETRAI—XEELFGREHES

No. EH 72 | itk |#EIEG| B | iR [BERES| K 4 | Fih| EE
1 60m M24_ 7.9 1 =) 1394|FKE 3K 19
2 60m M40 7.2 1 E 3 2007|HEE BR 40
3 60m M40 7.3 2 AH 1283iT/R &= 42
4 60m M40 7.8 3 = 15 1268|588 #Hz 41
5 60m M40 7.8 4 BE 1292|#% M BR 43
6 60m M45 75 1 [iES 209|HEAR EH 46
7 60m M45 7.6 2 BE 965|7EH Ef 45
8 60m M45 7.6 3 BE 874|153 EHHi 49
9 60m M45 7.8 4 BE 826|AXK & 45
10 60m M45 7.9 5 = 726| E& B2 49
11 60m M45 8.3 6 R 351184 FIE 48
12 60m M45 8.8 7 FLREAC 1436[5iizk EA 46
13 60m M50 7.3 1 #mE 778|/hHKk & 52
14 60m M50 7.4 2 KR 1109|Fik = 50
15 60m M50 75 3 B 1154(%H FH 50
16 60m M50 7.6 4 Eg 2253 |5 BUE 53
17 60m M50 7.6 5 =)l 1638 [IEIH  5A 50
18 60m M50 8.3 6 N 655| = Hi 53
19 60m M55 7.8 1 E¥ 3112(IUTF 7 55
20 60m M55 7.9 2 mAR 389|HIR Bl 57
21 60m M55 7.9 3 ACELL 688|HEF HH 59
22 60m M55 8.0 4 ASEDES 405| AR IE R EBR 57
23 60m M55 8.2 5 HER 1264[)I1& BB= 59
24 60m M55 8.9 6 BE 720| Ll ZFREF 59
25 60m M60 8.0 1 AR 27| K8 % 60
26 60m M60 8.2 2 BE 250|288 HEX 63
27 60m M60 8.6 3 FEIH 936|&EF IIth 60
28 60m M60 8.6 4 iEkes 263|hH #A 63
29 60m M60 8.7 5 fEAR 1222|/NE1RIEBH 62
30 60m M65 8.0 1 EH 13| = BE 65
31 60m M65 8.4 2 KR 1010|{F#EkE BEX 68
32 60m M65 8.6 3 = i 1030[=K Fi 69
33 60m M65 9.1 4 SEDES 3INB|H/KRK BE 69
34 60m M70 9.6 1 BE 1016| AR /XK 74
35 60m M75 9.2 1 BE 927| =5 I8 —BR 78
36 60m M75 95 2 fEAK 1023| R+t &= 76
37 60m M80 10.8 1 EH 845| A1 —% 80
38 60m W40 9.5 1 X 1461 (R H IEF 43
39 60m W40 10.0 2 LEIMAC 1432|H¥E BAH 41
40 60m W50 8.0 1 I 323|EH EXE 51
41 60m W50 8.8 2 B 3501 |8 #8F 51
42 60m W50 9.9 3 SEDES 1165|%HK #11K 54
43 60m W55 94 1 CCEI 1876| =18 EF 57
44 60m W55 9.8 2 = i 525|M1& IFF 59
45 60m W55 9.8 3 = 527|FTEE B 3E 56
46 60m W60 10.3 1 =B 1031|FAEEZF 60
47 | 100m | M24_ 12.3 1 = 1483|8RA FEX 18
48| 100m | M24 12.5 2 = i 1486 | S IEERE 19
49 | 100m | M25 12.4 1 = 1414|554 = 28
50| 100m | M35 12.9 1 =B 1448|L & 37
51 | 100m | M40 11.7 1 AH 1283iTR &= 42
52| 100m | M40 11.7 2 Hm 2007|4HE BR 40
53| 100m | M40 12.4 3 = 15 1268|588 #H2 41
54| 100m | M40 12.5 4 %BE 1292|% M B8R 43
55| 100m | M45 12.2 1 fmE 209|HER EH 46
56| 100m | M45 12.5 2 %BE 874|H ,iﬁ =it 49
57 100m M45 12.6 3 HAR 426\ FF Flz 48
58| 100m | M45 12.8 4 BE 826| AKX & 45




F£30E ERVRI—XELGREHRS

No. [EE] 72 | itk |#EIEG| B | iR [BERES| K 4 | Fi| EE
50| 100m | M45 13.4 5 E¥H 3511|f84 F1E 48
60 | 100m | M45 14.1 6 FIEAC 1436[5#i;k EA 46
61| 100m | M50 11.7 1 KR 11095k =T 50
62| 100m | M50 11.7 2 I 778/ HKk 8 52
63 [ 100m M50 11.8 3 B 1154(%H FH 50
64| 100m | M50 12.5 4 Eg 2253 |5 BUE 53
65| 100m | M50 12.9 5 EH 691 [{£% &= 50
66 | 100m M55 13.0 1 SEDES 405| AR IE R BR 57
67| 100m | M55 13.1 2 ACEIL 688| & Er HH 59
68| 100m | M55 13.2 3 mAR 389|diR Sl 57
69 | 100m | M55 13.7 4 E¥ 1264|)11% BB= 59
70| 100m | M55 15.0 5 BE 720| Ll ZHRE 59
71 100m | M60 13.0 1 AR 27| K8 % 60
72| 100m M60 13.3 2 Eg 2338|KPE F1X 62
73| 100m | M60 13.6 3 =I5 710|#% & 61
74| 100m | M60 13.8 4 BE 250|188 EBX 63
75| 100m | M60 14.0 5 FEIG 936|FH ith 60
76 | 100m | M60 141 6 R & 263|hH #A 63
77| 100m | M60 14.3 7 fEAR 1222|/NE4RIEBH 62
78| 100m M65 12.5 1 EH 13| = BE 65
79| 100m | M65 13.6 2 KR 1010[fRik REX 68
80| 100m M65 145 3 SEDES IR RE 69
81| 100m | Mm65 15.0 4 FEIH 220(=48 11T 67
82| 100m | Me65 16.5 5 = 1369|FH #H 69
83| 100m | mM70 13.7 1 K5 763|K;3 HEE A
84 100m M75 14.8 1 BE 927| 5 I5EE—EBR 78
85| 100m M75 15.0 2 fEAR 1023| R#t /= 76
86 | 100m | M80 18.0 1 EH 845|F1E —= 80
87| 100m | w40 154 1 = [ 1478|ILHE ER& 42
88| 100m | w50 12.9 1 I 323|EH EXE 51
89 | 100m | whs0 14.2 2 HER 3501 |8 #F 51
90 [ 100m | W50 16.1 3 SEDES 1165|%HK #11K 54
91 | 100m | wss5 15.0 1 #HE 1876|248 EF 57
92| 100m | w55 16.3 2 = i 525|#1A IFF 59
93| 100m | weo 16.8 1 = I 1031|FAEEZF 60
94 | 200m | M24_ 25.2 1 =) 1483(8RE &K 18
95 | 200m | M40 24.2 1 AH 1283iTR &= 42
96 [ 200m M40 24.3 2 X 2007 |9 EE BR 40
97 | 200m | M40 26.4 3 = I 1268| =11 #®2Z 41
98 | 200m | M45 26.5 1 e 209|HEAR EH 46
99 | 200m | M45 29.1 2 B 3511 |f84 FME 48
100/ 200m | M50 24.2 1 #mEI 778|/MER 38 52
101 200m | M50 25.0 2 KR 1109|557k = 50
102 200m M50 26.2 3 =) 951|FE 2 52
103| 200m | M50 26.8 4 £ 691|1&% &= 50
104 200m | M50 27.1 5 BE 1221|BH EE 52
105| 200m | M55 27.8 1 ACELL 688| 5% MH 59
106 200m | M60 276 1 mAR 27| K8 % 60
107| 200m | M60 29.1 2 FEIG 936|F# iLth 60
108 200m M60 29.3 3 gk 263|H #a 63
109 200m | M60 31.7 4 = 15 710|448 (& 61
110/ 200m | M65 27.3 1 EH 13| = B=E 65
111| 200m M65 29.0 2 KR 1010|{Fi%E BE 68
112| 200m M65 30.9 3 SEDES I3 AR RE 69
113] 200m M65 31.6 4 R 628|FFH H= 65
114 200m | M65 32.3 5 =I5 516|chig Bif 68
115] 200m M75 32.6 1 EEAK 1023| K#+ #{— 76
116 200m M80 40.8 1 £EH 845|HiF —= 80




F£30E ERVRI—XELGREHRS

No. EH h7A | Eogk g | BEHES| K % |[F#
117] 200m | w40 36.4 1 LIAC 1432| H¥E BEA 41
118 200m | ws5 32.1 1 #EI 1876|548 EF 57
119 400m | M25 57.6 1 EFE 1469| B84 —# 29
120 400m | M35 53.0 1 = 15 1233| &R # 35
121 400m | M40 59.0 1 EADSD 1275(¥8%F FNE 42
122| 400m | M45 58.0 1 = 990|7BiE = 45
123| 400m | M45 59.2 2 =I5 726| EFE@ B& 49
124 400m | M50 58.7 1 BE 1221|BH# & 52
125| 400m | M55 1.05.8 1 Bk 1033|FEX HF 56
126 400m [M55 1.14.1 2 ACELL 688| 5% JH 59
127 400m [M60 1.04.3 1 B 2338| K8 FX 62
128 400m |[M60 1.07.7 2 = i 1253|¥H EIE 63
129 400m [M60 1.10.4 3 FEIG 936|F# iLth 60
130| 400m [M65 1.11.6 1 TR 628|Ff H= 65
131 400m [M70 1.10.9 1 k) 289| & H R 74
132 400m |M70 1.34.6 2 BE 179 K#E BE— 70
133 400m |M80 1.405 1 £EH 845|HiF —& 80
134| 400m |W40 1.18.3 1 = [ 1478|ILA ERKR 42
135 800m |M50 2.30.9 1 %BE 920|UB;E A 54
136| 800m [M50 2427 2 FLREAC 1435(&#H 2% 54
137 800m |M50 2.50.2 3 FRREAC 1437|5H% EH 53
138 800m |[M55 2.28.6 1 R [ 1033|FEAX &HF 56
139| 800m [M60 2.39.5 1 = 1253|#1F XIE 63
140 800m [M&60 2.54.2 2 g ] 601|B50 F— 61
141| 800m |[M65 2.46.0 1 %E 1076|HE & 69
142 800m [M65 2.49.0 2 TR 628|Ff H= 65
143| 800m [M65 2.49.0 3 = [ 1270|#3F & 68
144 800m |M70 2515 1 =) 158|7K;R BAR 12
145| 800m [M70 2548 2 %E 650| &)1l XkE 72
146| 1500m [M24 414.4 1 =) 1418(#5iR #hth 21
147 1500m |M30 4464 1 = 1482|#hH, E— 30
148 1500m |M30 4486 2 TEAM-K 1259| B8 F0fE 33
149 1500m |M40 4326 1 EADSD 1275(#8FF FIE 42
150 1500m [M45 4.35.4 1 %BE 1042[;&K —A 45
151| 1500m [M45 5.14.2 2 FEREAC 1063| RS & 48
152 1500m [M45 517.4 3 mAR 503|£)I| E&j 47
153| 1500m [M45 5.40.1 4 LEES 1013|158 Hh 49
154 1500m |[M50 4452 1 mAR 439 EER 52
155 1500m |M50 5.02.9 2 BE 920(UB;E A 54
156 1500m |[M50 5.21.3 3 {FE G 877/ #kx TR 52
157 1500m |[M50 5.26.3 4 EALD 755|858 1A 51
158| 1500m [M50 5.27.3 5 FTREAC 1435(&H#H 2% 54
159 1500m |M55 5.10.4 1 EIRAC 543| KR K& 56
160 1500m |M60 5.05.3 1 s 619[iFH E— 63
161 1500m |M60 5.07.6 2 BH 416|F@ BA 60
162| 1500m |[M60 5.46.8 3 AR R 264|%5 % 1E8K 63
163| 1500m [M60 4.08.0 4 AIfE R 1096[;th A FERE 62
164| 1500m |[M65 5.35.4 1 BE 1076| 5 2 69
165| 1500m [M65 6.28.9 2 AIfE R 426|914t FH 69
166| 1500m |[M65 6.44.9 3 ACEIL 557|#ELL B 65
167 1500m |[M70 6.06.9 1 = 158[/KiR EAH 72
168 1500m |[M75 6.30.0 1 {FE I 126(5k%F #H= 75
169| 1500m [M80 6.14.9 1 FREAC 80|k Al 80
170 1500m |[wW24_ 5.34.8 1 TEAM-K 1473|f2H & 18
171 1500m [w45 6.15.5 1 TEAM-K 708| LR E& 45
172| 1500m |[W45 6.25.4 2 TEAM-K 125885 K #LF 46
173| 1500m [ws50 557.4 1 FIEAC 1315| KIFEEF 51
174 3000m |M24_ 9.13.7 1 =) 1418[#iR #hth 21




F£30E ERVRI—XELGREHRS

No. [EE] VY g | EHES| K % |[F#
175| 3000m [M30 11.00.1 1 TEAM-K 1259(E R F0E 33
176 3000m [M40 10.05.1 1 FIEAC 1434|FR 5% 42
177| 3000m [M45 11.01.9 1 ASAEDES 9032|[&8  HE 45
178| 3000m [M45 11.20.3 2 FIEAC 1063| RS & 48
179| 3000m [M45 12.25.6 3 A 1013|115 Hth 49
180 3000m [M50 11.56.2 1 FLREAC 1435(&H 2% 54
181 3000m |M50 11.59.6 2 EADSD 755|858 A 51
182 3000m [M50 12.15.9 3 FErIG 877|/h#x T 52
183| 3000m [M50 12.435 4 FTREAC 1437|15H# E 53
184| 3000m |M55 11.28.6 1 s 627|ithE ZFif 59
185| 3000m [M60 10.40.8 1 BH 416|=R  BA 60
186| 3000m |[M60 10.59.9 2 e 619[iFH H— 63
187| 3000m |[M60 12.20.4 3 FEIG 1447| KR —Rk 61
188| 3000m [M60 12.37.2 4 F— L& 3778 EX 64
189 3000m |M65 14.22.2 1 AR 1317|8R3F Bk 66
190| 3000m |M70 15.02.6 1 BB R 138|E8 0O #hiA 74
191| 3000m |M75 15.10.9 1 FEIG 126|3kE7 = 75
192 3000m |M75 24.59.8 2 R & 1076|F%HE A= 79
193| 3000m [M80 13515 1 FREAC 80|k Al 80
194| 3000m |W50 12.46.9 1 FTIEAC 1315| KIFEEF 51
195 5000m |[M40 17.44.7 1 ACEIL 1264|1RF =i 43
196 5000m |[M40 22.43.1 2 = 15 1197|AK B4 44
197| 5000m [M50 19.49.0 1 BE 920(UB;E A 54
198| 5000m |[M50 20.55.7 2 EADSD 755|858  1&EA 51
199 5000m |[M60 22141 1 FEIH 946 |FTFE 61
200 5000m |M60 22.29.1 2 g ] 601|BQ ;=— 61
201| 5000m |M65 20.43.0 1 %E 1076|HE 2 69
202| 5000m [M70 21.45.9 1 BE 650| &Il K% 72
203| 5000m [M70 24.09.9 2 TEEAC 155(1&% F— 72
204 EZBK |M40 1.60 1 BE 856k £ 42
205| FE=BE [M45 1.65 1 = i 908 | KA R EE— 48
206 EZBK |M45 1.50 2 =G 866|E #C1T 45
207 FESBE |M55 1.55 1 I 545|7x ] =3 55
208 EZBK |M60 1.45 1 EH 65|24 HE 61
209| E=B [M60 1.05 2 iBH 489(PTER H— 61
210 =Bk |M65 1.30 1 AR 413|)118 Bi& 67
211 FE=B [M65 1.10 2 = il 1030[=K FHi# 69
212 EZBK |W40 1.40 1 mAR 493 Ft Fis 44
213| ESBE |W45 1.10 1 SEDES 761|885 K FHKF| 48
214 EZB |W50 1.15 1 SEDES 1165|%X I 54
215| ESBE |W50 1.05 2 =1 1450|FH EFfF| 52
216 | FE=BE (w60 1.10 1 =% 1031|FAA FEZEF| 60
217 FSB |W60 0.80 2 AR 418|)118 BEF 62
218| FEMEEE |[M40 5.91 1 %BE 1067|788 B2 40
219| FEMEEE [M40 5.22 2 BE 800|f2IE HE 43
220| ZETEBEK |M45 5.61 1 BE 965|FEHE E#t 45
221 FEMEEE |M45 5.24 2 HAR 426\t FH Flz 48
222 | FEWEEEK |M45 515 3 BE 874| B BH 49
223 FEMEEE |M45 5.13 4 = il 908 | KAl R EE— 48
224| ZEWEEEK |M45 414 5 =5 866|8E #C1T 45
225| FEWEEK [M50 5.77 1 KER 1109|Fik =C 50
226 FEMEEE |M50 5.28 2 e 1638[IEIH A 50
227 FEMEEE M50 4.60 3 HAR 212| KE £ 53
228 | FEMEBK |M55 517 1 B 3112|IUF #H 55
229 | ZEMEBE [M55 483 2 R 545|7x ] A 55
230 FEMEBK |M55 478 3 bl 1077|h0EE F|— 57
231| zEMEEK [M60 3.45 1 wAR 561|HIF I 63
232 FEMEEE |M65 4.64 1 AR 413|)e BE 67




F30E EETRAI—XEELFGREHES

No. EH 72 | itk |#EIEG| B | iR [BERES| K A | Fih| EE
233 EMEEE |M65 458 2[+0.3% [EF 13| B = 65
234| FEMERBE |M65 408 3|+0.8% | =% 516|FhIE BRif 68
235| FEMEBE [M65 3.75 4(+0.7x |E=HE 1030|=K Fif 69
236 | EMEEE [M70 2.65 1]+2.6% | Bk 841|fE HiF Al
237| zEmEEK w24 427 1[+1.1% |31 1481/VE I 18
238| ZEMEBE (w40 457 1]+0.3% |#FA 493 % Fiz 44
239| ZEMEBE (w40 3.35 2(+0.7% | = 1478|ILA ERK 42
240 | FEMEBE |W45 4.09 1]+2.1% [1BE 357| Nk FNE 48
241 | ZEMEEK (w45 3.29 2|+1.3% [SZEDES 76185 K FHKF| 48
242| FEWEBEK |W50 454 1+1.7% | =5 323|=H EE 51
243 | FEMERBE |W50 428 2(+0.3% |BE 414|358 BaF 52
244 | FEMEEE |W50 3.64 3[+0.3% |55 1450(FHH EFF| 52
245| ZEMEEK [W50 3.37 4[+2.3% [;BH 1336[f&R F&EF| 51
246 | FEMERBE |W60 2.55 1]+0.9% [#FAR 418[JI1B HF 62
247 =ExBk [M30 13.02 1|+2.4% |BEFE 1466| = X 30
248 | =ExBk [M40 12.65 1]+2.0% [1BE 800|218 JiF 40
249 Z=ExBk |M40 10.69 2|+1.7% [ E 856 |5 K 42
250 =Bz |[M45 11.66 11+1.3% |E [ 908 X,TJ?L— 48
251 =ExBk |M45 11.12 2|+2.3% [1ZE 965|75H Bt 45
252 ZE&Bk [M50 10.93 1]+2.1% [#Z)1] 1638 [IEIH A 50
253| =ExBk [M50 10.77 2[+1.9% | KR 1109|F#E = 50
254 Z=ExBk |M55 11.12 1]+1.8% |EHm 3112|IUTF #& 55
255 =E&Bk |M55 10.11 2(+0.9% |F&im 545|7x ] A 55
256 ZERBE |M60 10.13 1[+2.4% | K% 65|24 HE 61
257 =ExBk [M65 9.81 1[+1.1% | % 13| B BE=E 65
258 Z=ExBk |M65 8.76 2[+0.1% [#HAK 413|)118 Bi& 67
259 =ExBk |M70 9.12 1]+0.5+ |E&RE 289|ZH HR 74
260 =FxBk (w45 9.91 1|+2.0% [1F5E 357| Ak FNE 48
261 =ExBk |W50 8.57 1|+1.4% [BE 414(58 BF 52
262 | faik (M35 9.13 1 |33 101401l B2 38
263| fadLiz (M40 12.28 1 B3] 717|208 EkL 44
264| faAE [M45 9.40 1 mAR 458|F%H Ift— 48
265| fadLiz [M45 8.43 2 HZ)I| 1909| R Il E&F 47
266 | faiix [M45 6.34 3 = i 908 | KAl R — 48
267| faFLk [M50 10.62 1 AR 538| &)1l B4T 53
268 | faik [M50 951 2 EH 503[#0R ¥ 50
269| ALk [M50 9.32 3 AR A2 ER KRz 51
270| fai#k (M50 6.88 4 X 956| =45 HE— 51
271 #aA¥E M55 11.15 1 #wE g7slino 58
272 faiE (M55 9.71 2 EE 179(M5| #RIE 58
273 maAE M55 7.26 3 KR 436/ Mk FR 58
274 fafiE  [M60 11.26 1 = [ 271|=4% 1EFA 61
275| Haik [M60 9.42 2 = 693| =l =X 61
276 | fafLiE [M60 8.32 3 ACELL 658|F%HE [EA 60
277 maAk  [M60 7.92 4 BE 397|42H R% 64
278 | fafLiE |[M60 7.91 5 B H 489|PaI &R A — 61
279| fa#Lk [M60 7.63 6 LEES 254|;&ER $ELf 64
280| fafLiE |M65 10.65 1 = 5 381|FMA &R 68
281 Faihix |M65 9.08 2 = [ 47| HEFOEFEA 65
282| FaHQIE |M65 8.52 3 GES 1487|718 & 66
283 #aAE |M70 10.88 1 #E)I 1281|=F Bx 70
284| fahix [M70 9.83 2 mE 1058 K MR 70
285| fa#Lk [M70 7.84 3 i [if] 841|# ke —tf;ﬁ; 71
286 | fafLE [M70 7.29 4 AH 132[A8 Jz 74
287| Fa#Lk [M75 8.41 1 R 461 [k &EE 77
288 | HmaALIE w40 6.89 1 #wmE) 1656 |#¥35E F 42
289 | ALk |ws0 10.18 1 A HE 1025| THERPH 52
290| fafLE |weo 8.61 1 AXH 434 FEKRK BHE 60




F30E EETRAI—XEELFGREHES

No. [EE] 72 | itk |#EIEG| BAR| iR [BERES| K 4 | Fih| EE
201 | F9#E% (M40 26.24 1 RIR 117|E/M Bk 44
292 | HM#EER |[M45 27.85 1 AR 458|F%FH Ift— 48
293 | F#E%:  [M45 17.18 2 = i 908 | A A R 3 — 48
294 | ML |[M45 16.63 3 LEES 1181|#t% FiR 47
205 MR |M45 12.11 4 BT 1909| /Il F&E 47
296 | HM#EER  [M50 28.91 1 mAR 538|=JIl BAT 53
297 H#E¥% M50 27.98 2 AR AL ES T4 51
298| F#E: (M50 27.50 3 AIE 05|l —& 54
299 H#E¥% M50 26.22 4 EH 503|#AR E 50
300| F#E¥R (M50 19.47 5 Eg 956|518 fi2— 51
301 Mg |M55 28.23 1 FEEI LYEITI= S 58
302| F#E¥: (M55 20.92 2 KR 436/ME R 58
303 H#EE%  |M60 34.21 1 = i 271|=# 1EBA 61
304| F#E¥R  [M60 31.94 2 = 693|=lEF EX 61
305 M#E%  |M60 29.86 3 = 710|#% & 61
306| M#EE |M60 26.31 4 ACELL 658|FH EA 60
307 H#E%  |M60 23.84 5 (GES 254|7ER  HELf 64
308 | F#E%: [M60 22.43 6 KR 409 = 63
309| HM#EEE: |[M60 22.30 7 BH 489|PaIER A — 61
310 HM#EH%:  [M60 21.15 8 BE 397|feH = 64
311 HEER [M6e0 19.08 9 [ 651[ER = 64
312 H#E%:  [M65 34.53 1 = 15 381 FJEE GiE:) 68
313 H#E%  |M65 26.49 2 GES 1487|715 2B 66
314| HM#E%:  [M65 20.48 3 = [ 447(HE OB A 65
315| H#E%  [M70 31.15 1 #HE)| 1281|=+ BBk 70
316 | HMH#EHR [M70 29.85 2 BE 105|83K BRRR 70
317 H#E#& [M70 26.20 3 KR 134|758k I 74
318| H#EH%: [M75 24.90 1 371 4615 &E 77
319 MH#E%  |w40 18.47 1 #HE)| 1656 ¥35H 4 42
320 F#E: (w40 17.22 2 BHXR 1461|E5H JEF 43
321 H#EER |ws0 17.11 1 =5 1252| & FH1=1FK 54
322 HM#EER (w60 24.70 1 AH 43| FK BE 60
323 |/ \><w—#|M30 35.10 1 EE 1415[8EJIl =4 30
324 | /\><—¥%[M45 21.77 1 mAR 458|F%H Ift— 48
325 [ /v —1%|M45 19.66 2 LEES 1181|118 FiR 47
326 | /\><v—#|M45 18.34 3 FEEI 1909|FJIl FF 47
327 [/ \><=—#|M50 28.40 1 BIFE 05|l —FF 54
328 | /\><—1#%[M50 21.02 2 mAR A2ER KRz 51
329 [/\><w—#%|M50 16.98 3 351 956 | =18 15_— 51
330 [/ —#%|M55 40.31 1 BE 465|FR E£= 57
331 [/ \><w—#%|M55 35.84 2 #HE g78[)lld 1y 58
332 |/\>w—¥%|M55  |E28F4L KR 436[/ME R 58
333 | /\>v—#[M60 34.07 1 EF 693| =l =X 61
334 [ /\oo<w—#|M60 29.09 2 KE 400(12E = 63
335 [\ w—#%|M60 28.49 3 ACEL 658|F%ME A 60
336 [/\><w—3%|M60 20.26 4 BE 397|feH =& 64
337 | /\><v—¥#|M65 24.72 1 = 15 381|@A iR 68
338 [/\><w—1#&|M70 33.77 1 FEEI 1281|=F BBk 70
339 /\>w—#%[M70 28.87 2 BE 105[85K BBR 70
340 [ /"o <w—#|M70 24.69 3 KR 134|F%k I 74
341 | /\o<w—#([M75 32.14 1 RIR 4615 &EE 77
342 [ o= —#|w4a0 18.92 1 Hm 1461|AFH JEF 43
343 [\ <w—#|W60 20.10 1 AXH 434[FEK BE 60
344 DYE |M24 4295 1 =5 1486 | SIEERE 19
345| HUE  [M45 20.06 1 x| 1909|AJIl ;E5 47
346 Yk M50 39.93 1 B 1390(#1R REB 53
347 ™Y (M50 39.23 2 ¥ 593[#MR ¥ 50
348| Y M50 38.19 3 FE 1388| LM & 54




F£30E ERVRI—XELGREHRS
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